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QUESTION 1

Which two features of Oracle Access Management Mobile and Social are supported only when it is integrated with
Oracle Adaptive Access Manager? 

A. multi-step authentication (knowledge-based authentication and one-time password support) 

B. JWT token support for authentication and authorization 

C. ability to uniquely identify connecting mobile devices (device fingerprinting) 

D. relying party support for Internet-based Identity Provides (Facebook, Google, Twitter, LinkedIn, and Yahoo) 

E. basic (limited) device security checks during device registration and access requests 

Correct Answer: AC 

 

QUESTION 2

At what checkpoint would you create a challenge policy for Knowledge-Based Authentication for online user
authentication? 

A. Pre-authentication 

B. AuthentiPad 

C. Post-Authentication 

D. Device Identification 

Correct Answer: A 

 

QUESTION 3

Which three statements are true about Oracle Entitlements Server? 

A. It enables you to externalize fine-grained authorization from applications. 

B. It uses a centralized Policy Decision Point (PDP) that all Policy Enforcement Points (PEPs) communicate with. 

C. It can use either a centralized PDP or a localized PDP. 

D. It has an out-of-the-box integration with Oracle Adaptive Access Manager. 

E. Auditing is not enabled by default within the security modules. 

Correct Answer: ABE 

 

QUESTION 4
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By default, which four Oracle Access Management platform components write attributes into the Identity Context?
(Choose four.) 

A. Oracle Entitlements Server 

B. Oracle Access Manager 

C. Oracle Security Token Service 

D. Oracle Enterprise Single Sign-On 

E. Oracle Access Management Mobile and Social 

F. Oracle Adaptive Access Manager 

Correct Answer: ABDF 

 

QUESTION 5

Which statement is true about the interaction between a UMS component in the SOA Suite and OAAM? 

A. OAAM generates and sends the One Time Pin (OTP) directly to a user. 

B. OAAM generates and sends the OTP to UMS, which submits it to a customer. 

C. OAAM communicates with the UMS, which generates and submits the OTP to a customer. 

D. OAAM sends the OTP to a customer directly and UMS validates the PIN. 

E. UMS generates and sends the OTP direcly to a user. 

Correct Answer: A 
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